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QUESTION ONE
(a) Write brief notes on the following economic concepts:
i. Elasticity of substitution 					(4 marks)
ii. The law of diminishing marginal returns of a factor input		(4 marks)
iii. The law of equi-marginal utility					(4 marks)
iv. Positive and normative economic analysis			(4 marks)
(b) Examine the key characteristics of economic models. What are the major limitations of economic models						(6 marks)
(c) Distinguish between substitution effect and income effect of a price change. (8 marks)
QUESTION TWO
(a) Define ‘oligopoly’ and with the aid of appropriate diagram, explain why on theoretical considerations oligopolistic prices should be more stable than prices of other product market structures. (10 marks)
(b) Decompose the effect of a price change into substitution and income effects using
i. The Slutsky method
ii. The Hicksian method							(10 marks)
QUESTION THREE
(a)Explain the concept of consumer surplus and show how it is used to measure consumer’s welfare changes (10mks)
(b)Using a mathematical approach, derive the equilibrium position of a price discriminating monopolist, show that the monopolist will charge a higher price in the market whose demand is less elastic (10mks)
QUESTION FOUR 
(a)Using graphical approach or otherwise, explain the stages of production of a firm and distinguish between the average product and marginal product of a production function (10mks) 
(b)Discuss the purpose of the marginal rate of substitution in production theory. The production function of a firm is represented by a combination of labour, L and capital K to produce a given level of output Q. If the has a given cost outlay, C and the wage rate is W while the rental value of capital r, derive the firm’s output maximizing point (10mks)  

QUESTION FIVE
(a)Explain with examples the economies and diseconomies of scale. How do economies and diseconomies of scale determine the shape of Long run average Cost Curve (LAC) (4mks)
(b)Explain why a monopolistic competitor’s equilibrium leads to economic inefficiency relative to a perfect competitor                                                                                            (8mks)
[bookmark: _GoBack](c)State and explain the differences between cornet equilibrium and stackelberg equilibrium in oligopolistic market  								(8mks)
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